
Coordinates and Ratios 
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1 Midpoints are points that are found exactly half way along a line. 

1(a) Find the coordinates of the midpoint for the line 𝐴𝐵 , shown below. 

[1 mark]

Answer

1(b) Find the coordinates of the midpoint for the line 𝐶𝐷 , shown below. 

[1 mark]

Answer

Question continues on next page

Turn over ►
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1(c) Find the coordinates of the midpoint of the line 𝐸𝐹 , shown below.

[1 mark]

Answer

Turn over ►
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2(a) The points 𝐴 and 𝐵 form a line segment 𝐴𝐵. 𝑀 is the midpoint of 𝐴𝐵.

𝐴 = (5 , 10)

𝐵 = (17 , 8)

Find the coordinates of 𝑀.

[1 mark]

Answer

2(b) The points 𝐶 and 𝐷 form a line segment 𝐶𝐷. 𝑀 is the midpoint of 𝐶𝐷.

𝐶 = (−2,−10)

𝐷 = (−7,−14)

Find the coordinates of 𝑀.

[1 mark]

Answer

2(c) The points 𝐸 and 𝐹 form a line segment 𝐸𝐹. 𝑀 is the midpoint of 𝐸𝐹.

𝐸 = (0,−10)

𝐹 = (−6, 0)

Find the coordinates of 𝑀.

[1 mark]

Answer

Turn over for next question

Turn over ►

3
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3 𝐴 and 𝐵 are two points of a square 𝐴𝐵𝐶𝐷.

Write down two sets of possible coordinates for 𝐶 and 𝐷. 

[2 marks]

𝐶 = and         𝐷 =

𝐶 = and         𝐷 =

Turn over for next question

Turn over ►
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4

4(a) Point 𝐷 lies on a line 𝐴𝐵 such that 𝐴𝐷 is 
2

3
of the total length of 𝐴𝐵.

Given that 𝐴(2, 4) and 𝐵(17, 13), find the point 𝐷.

[3 marks]

𝐷 =

4(b) 𝐸 lies on the line 𝐴𝐵 such that 𝐴𝐸 is 
5

7
of the total length of 𝐴𝐵.

Given that 𝐴(0, 10) and 𝐵(−21,−25), find the point 𝐸.

[3 marks]

𝐸 =

Turn over ►

6
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5 Point C lies on the line segment AB

C is such that the ratio 𝐴𝐶: 𝐶𝐵 = 1: 2

5(a) What are the coordinates of the point 𝐶?

[2 marks]

𝐶 =

5(b) Another point 𝑋 lies on the line segment 𝐴𝐵.

This divides the line segment in the ratio 𝐴𝐶: 𝐶𝑋: 𝑋𝐵 = 2 ∶ 1 ∶ 3

What are the coordinates of the point 𝑋?

[2 marks]

𝑋 =

Turn over ►
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6 𝐹 lies on a line 𝐴𝐵 such that 𝐴𝐹 is 
3

4
of the length of 𝐴𝐵.

6(a) Given that 𝐴(0,0) and 𝐵(20,−8), find the point 𝐹.

[2 marks]

𝐹 =

6(b) G lies on 𝐴𝐹 such that 𝐴𝐺:𝐺𝐹 = 1 ∶ 2. 

Write down the ratio 𝐴𝐺: 𝐺𝐹: 𝐹𝐵.

[1 mark]

Answer:

6(c) Hence find the co-ordinate 𝐺.

[2 marks]

𝐺 =

Turn over ►

5
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7 𝑋 is a point on the line segment 𝐴𝐵.

𝑌 is a point on the line segment 𝐶𝐷.

𝐴𝑋: 𝑋𝐵 = 𝐶𝑌: 𝑌𝐷 = 1: 2

Find the equation of the line 𝑋𝑌 and plot this on the graph above, making sure to label 

any points of interest. 

[4 marks]

Answer

Turn over for next question

Turn over ►
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8 The midpoints of the lines 𝐴𝐵, 𝐵𝐶 and 𝐴𝐶 are 𝑋, 𝑌 and 𝑍 respectively.

By first finding the points 𝑋,𝑌 and 𝑍, draw the shape 𝑋𝑌𝑍 on the diagram above.

[3 marks]

End of Questions

END
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